BIC

Relative Probability

107°107*1020.01 0.1

Window Half—Width (km/s)

10%

5%x10°

2x10°

10

10 100

1

1000 10*

100

rm150 2/(410045 —4956)=0.920

— 1 ' T T T r T T T T T T T 1
i BIC 436608 75 ABIC O. OOO AIogP 0.0000 ]
3 : x 372557.31 Ax 0.000 AlogP 0.0000 -
| ABIC —86725 )
, Ax? —86725
4956 : 4956
A ' ACg
L L L L | L L L L | L L L L | L L L L | L L L L | L L L L |
10 20 30 40 50 60
60 iterations
rm150 2/(410045 4956) 0.920
E™ +~ ' +~ T - T T T T T T T T T T T T 13
F : BIC 436608 75 ABIC O. OOO AIogP 0.0000 7
e A v % 372557.31 Ax 0.000 ‘AlogP "0.0000 3
= 4956 4956 73
I I I e R -
E_ . L L L | L L L L | L L L L | L L L L | L L L L | L L L L E
10 20 30 40 50 60
60 iterations
Fe2 7% 100+192 km/s
rm150 BLR 3930 NLR 900 km/s
F——— - - 1 - - - - 1 - T - 1 " T T T 1T T T T T T T T T T 0n

60 iterations

BIC

BLR

NLR

Fell

kdh1 12-0ct-2021 12:18



